KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

1048403

Form ACO-1
June 2009
Form Must Be Typed
Form must be Signed
All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 31980	API No. 15 - 15-007-23588-00-00
Name: Lotus Operating Company, L.L.C.	Spot Description:
Address 1: 100 S MAIN STE 420	NW NE_NW_SE Sec. 36 Twp. 34 S. R. 12 ☐ East West
Address 2:	Feet from ✓ North / ☐ South Line of Section
City: WICHITA State: KS Zip: 67202 + 3737	Feet from 🗹 East / 🗌 West Line of Section
Contact Person:Tim Hellman Phone: (316)262-1077	Footages Calculated from Nearest Outside Section Corner: NE NW SE SW
CONTRACTOR: License #	County: Barber
Name: Duke Drilling Co., Inc.	Lease Name: Wetz B Well #: 4
Wellsite Geologist: Tim Hellman	Field Name: Stranathan
Purchaser: High Sierra & ONEOK	Producing Formation: Mississippi
Designate Type of Completion:	Elevation: Ground: 1356 Kelly Bushing: 1364
✓ New Well Re-Entry Workover Oil WSW SWD SIOW Gas D&A ENHR SIGW ✓ OG GSW Temp. Abd. CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.):	Total Depth: 5219 Plug Back Total Depth: 4970 Amount of Surface Pipe Set and Cemented at: 260 Fee Multiple Stage Cementing Collar Used? Yes No If yes, show depth set: Fee If Alternate II completion, cement circulated from: sx cm
If Workover/Re-entry: Old Well Info as follows:	icot dopin to.
Operator:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth: Deepening Re-perf. Conv. to ENHR Conv. to SWD Conv. to GSW	Chloride content: 22000 ppm Fluid volume: 80 bbls Dewatering method used: Hauled to Disposal
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name: Lotus Operating Company, LLC
Dual Completion Permit #:	Lease Name: CR Wetz SWDW License #: 31980
☐ SWD Permit #:	Quarter NE Sec. 1 Twp. 35 S. R. 12 East / Wes
GSW Permit #:	County: Barber Permit #: 15-007-20734-00-01
9/3/2010 9/10/2010 09/27/2010	
Spud Date or Date Reached TD Completion Date or Recompletion Date	

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY				
ved				
2/26/2012				
Geologist Report Received				
y: NAOMI JAMES Date: 12/27/2010				

Side Two

Operator Name: <u>Lot</u> t	is Operating Cor	<u>npany, L.</u>	L.C.	_ Lease f	Name: _	Wetz B		Well #: <u>4</u>	<u>. </u>	
Sec. 36 Twp.34	s. R. <u>12</u>	☐ East	✓ West	County	: Barbe	er	·			
INSTRUCTIONS: She time tool open and clo recovery, and flow rate tine Logs surveyed. A	sed, flowing and shu es if gas to surface to	t-in pressu st, along w	res, whether sl ith final chart(s	hut-in pres	sure read	ched static level,	hydrostatic pressu	ıres, bottom h	iole tempe	erature, fluid
Drill Stem Tests Taken		Ye	s 📝 No	-	⊘ Lo	og Formation	n (Top), Depth and	l Datum	□ s	ample
(Attach Additional S	·	[]] V o	a 🗀 Na		Nam			Тор		atum
Samples Sent to Geol	ogical Survey	✓ Ye	_		Heebn	ner		3749		385
Cores Taken Electric Log Run		L. Ye ✓ Ye			KC			1277		913
Electric Log Submitted	d Electronically	✓ Ye			ВКС			1507	_	143
(If no, Submit Copy)				Miss			1696		332
List All E. Logs Run:					Viola			5099	-35	
Attached					Simp	Dolo		5185	-38	
					LTD			5219	-38	355
		Repo	-	RECORD	✓ Ne urface, inte	ew Used ermediate, producti	on, etc.			
Purpose of String	Size Hole Drilled	Siz	e Casing (In O.D.)	Wei	ight	Setting Depth	Type of Cement	# Sacks Used		and Percent dditives
Surface	14.75	10.75		28		260	60/40 poz mix	225	2% gel,	3% cc
Production	7.88	5.5		14	WT 18	5016	Class A ACS	200	latex	
			ADDITIONAL	CEMENT	ING / SOL	JEEZE RECORD	<u> </u>			
Purpose:	Depth Top Bottom	Туре	of Cement	# Sack			Type and P	ercent Additives	S	
Perforate Protect Casing	_									
Plug Back TD Plug Off Zone										
Shots Per Foot			D - Bridge Plug Each Interval Per				cture, Shot, Cement mount and Kind of Ma		rd	Depth
1	4702-49					Acid 4950 gal, 10	% NEFE, frac w/ 301,000	0# sd & 15,753 bb	ls slick water	4702-49
TUBING RECORD:	Size: 2 7/8"	Set At: 4822		Packer / none	At:	Liner Run:	Yes V No			
Date of First, Resumed 10/12/2010	Production, SWD or E	NHR.	Producing Met	thod: Pumpi	ing .	Gas Lift 0	Other (Explain)	·	·	
Estimated Production Per 24 Hours	Oil 120	Bbls.	Gas 210	Mcf	Wa	ter B 150	ibis. C	Sas-Oil Ratio		Gravity 21
DISPOSIT	ION OF GAS:			METHOD O	F COMPL	ETION:	_ _	PRODUCT	ION INTER	VAL:
Vented ✓ Sol	<u> </u>	' <u> </u>	· -	Perf.			mmingled 47	<u> 702-49</u>		
(If vented, St.	ıbmit ACO-18.)	_ ∐'	Other (Specify) _			 				

Form	ACO1 - Well Completion
Operator	Lotus Operating Company, L.L.C.
Well Name	Wetz B 4
Doc ID	1048403

All Electric Logs Run

Dual Induction	 	
Neutron Density w/PE	 	
Micro		
Sonic		



RECEIVED

SEP 2 3 2018

INVOICE

Invoice Number: 124521

Invoice Date: Sep 13, 2010

Page:

1

PO BOX 31 Russell, KS 67665

Voice: Fax: (785) 483-3887 (785) 483-5566

Bill To:

Lotus Operating Co., LLC Lotus Exploration Co. 100 S. Main, STE 420 Wichita, KS 67202

CustomerID	Well Name# or Customer P.O.	Payment	Terms
Lotus	Wetz B #4	Net 30	Days
Job Location	Cemp Location	Service Date	Due Date
KS1-01	Medicine Lodge	Sep 13, 2010	10/13/10

				Data Data a	Animana
Quantity	Item	Description	מס	Unit Price	Amount
135.00	MAT	Class A Common		15.45	2,085.7
90.00	MAT	Pozmix		8.00	720.0
6.00	MAT	Gel		20.80	124.8
11.00	MAT	Chloride		58.20	640.20
242.00	1	Handling		2.40	580.8
15.00		Mileage 242 sx @.10 per sk pe	r mi	24.20	363.00
	SER	Surface	ENTERED	1,018.00	1,018.0
15.00		Pump Truck Mileage	בוזובוזבט	7.00	105.0
10.00			SEP 24 2010		
		Suc	08 nent 10 3/4" Face casinx #48		

HOLE SIZE 14 % T.D. 268	CEMENT
CASING SIZE 103/4 DEPTH 264	AMOUNT ORDERED 225 & 60:40:2966-1
TUBING SIZE DEPTH	3%cc
DRILL PIPE DEPTH	
TOOL DEPTH	7
PRES. MAX MINIMUM	COMMON A 135 5X@ 15.45 2085
MEAS. LINE SHOE JOINT	POZMIX 90 JY @ 8_ 720 =
CEMENT LEFT IN CSG. 26'	GEL 6 SV @ 20 20 124 22
PERFS.	CHLORIDE // 3x @58 2° 640 2°
DISPLACEMENT 24 bhis offresh water	ASC
	@
EQUIPMENT	@
	@
PUMP TRUCK CEMENTER Darin E	
#360-265 HELPER MG++ T.	
BULK TRUCK	@
#364 DRIVER Jeson T.	
BULK TRUCK	
# DRIVER	@
# DRIVER	HANDLING 242 @ 240 580 -
	MILEAGE 242/15/-10 363 =
REMARKS:	TOTAL 45/4
Pipo on bottom abrest circussion	OPPRICE
Dump 3 lhis shees, min 225 so of	SERVICE
Coment, Displace 24 bhis of fresh	201.1
Water, Shut in , Cement 1.2	DEPTH OF JOB 254'
Circulate	PUMP TRUCK CHARGE 1018
	EXTRA FOOTAGE@
	MILEAGE /S @ Z = /0S =
	MANIFOLD@
4	Shocked Uclue @
CHARGE TO: Lestes Oporgoins	
CHARGE TO: PERO CONTROL	TOTAL //23 ==
STREET	IOIAL Z.
CITYSTATEZIP	PŁUG & FLOAT EQUIPMENT
	I DOG WILDONII DQUIMDANI
	@
To Allied Comenting Co. 11 C	
To Allied Cementing Co., LLC.	@
You are hereby requested to rent cementing equipment	<u> </u>
and furnish cementer and helper(s) to assist owner or	
contractor to do work as is listed. The above work was	mom. •
	TOTAL
done to satisfaction and supervision of owner agent or	TOTAL
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	SALES TAX (If Any)
done to satisfaction and supervision of owner agent or	SALES TAX (If Any)
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any) TOTAL CHARGES
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	SALES TAX (If Any)
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side. PRINTED NAME O O O O O O O O O O O O O	SALES TAX (If Any) TOTAL CHARGES
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side. PRINTED NAME O O O O O O O O O O O O O	SALES TAX (If Any) TOTAL CHARGES
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side. PRINTED NAME O O O O O O O O O O O O O	SALES TAX (If Any) TOTAL CHARGES
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side. PRINTED NAME O O O O O O O O O O O O O	SALES TAX (If Any) TOTAL CHARGES
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side. PRINTED NAME A SO O	SALES TAX (If Any) TOTAL CHARGES



PO BOX 31 Russell, KS 67665

RECEIVED

INVOICE

Invoice Number: 124468

Invoice Date: Sep 13, 2010 1

Page:

SEP 23 2001

Voice: Fax:

(785) 483-3887 (785) 483-5566

BILITÓ

Lotus Operating Co., LLC Lotus Exploration Co. 100 S. Main, STE 420 Wichita, KS 67202

Customer(D)	Well Name# or Customer P.O.	Paymen	Parms
Lotus	Wetz #4 B	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-02	Medicine Lodge	Sep 11, 2010	10/13/10

Quantity	Item	Description	Unit Price	Amount
	MAT	Class A Common	15.45	278.10
12.00	MAT	Pozmix	8.00	96.00
1.00	MAT	Gel	20.80	20.80
200.00	MAT	ASC Class A	18.60	3,720.00
1,000.00	MAT	Koi Seal	0.89	890.00
94.00	MAT	FL-160	13.30	1,250.20
50.00	MAT	Fio Seal	2.50	125.00
255.00		Handling	2.40	612.00
	SER	Mileage 255 sx @. 10 per sk per mi	25.50	382.50
	SER	Production Casing	2,092.00	2,092.00
15.00	1	Pump Truck Mileage	7.00	105.00
	EQP	5.5 Guide Shoe	100,80	100.80
	EQP	AFU Insert	112.00	112.00
	EQP	Basket	161.00	161.00
	EQP	5.5 Centralizer	32.20	193.20
				40.400.0

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE 2010 2010 PM

_ 7	Subtotal	10,138.60
١	Sales Tax	507.14
l	Total Invoice Amount	10,645.74
l	Payment/Credit Applied	
1	TOTAL	40,845.76
1	CONTROL OF THE CONTRO	2427

#8618.02

CAITCOCO

ALLIED CEMENTING CO., LLC. 037054

REMIT TO P.O. BOX 31

To Allied Cementing Co., LLC.

SERVICE POINT: **RUSSELL, KANSAS 67665** Medicino Lodge K. ON LOCATION 7.30pm JOB START JOB FINISH CALLED OUT RANGE DATE 9-11-10 11:30 ar 12:30An COUNTY 1351 ber LEASE Wed2 REAM STORK RS. YVWGL, Slines OLD OR NEW Circle one) Losus Operating Duke #2 CONTRACTOR Production TYPE OF JOB T.D. 5212' **CEMENT HOLE SIZE** AMOUNT ORDERED 30 54 60:40: 40/06-1 DEPTH SOLL CASING SIZE 2005p Class A BSC+ 5# Kelson **TUBING SIZE** DEPTH .5% FL160+ Yu # Ploses1 DRILL PIPE **DEPTH** TOOL DEPTH @15.45 278 COMMON A 18 xx PRES. MAX **MINIMUM** SHOE JOINT 401 POZMIX MEAS. LINE GEL CEMENT LEFT IN CSG. PERFS. **CHLORIDE** DISPLACEMENT 123 bb/s Of fresh were ASC _200 SX Kolseal **EQUIPMENT** CEMENTER Derin F PUMP TRUCK #471-302 HELPER Run G **BULK TRUCK** 364 DRIVER JESON T **BULK TRUCK** DRIVER HANDLING_25.S MILEAGE __&SS/ **REMARKS:** iPron bottom & brook circulation Myo 305x Of coment for Resthere **SERVICE** my 2005 of cement. Shut Lown DEPTH OF JOB _50/6 Wash Dimo & lines. Release Plug. Stert LISPICIPMENT, LIFE Pressum 91 85 PUMP TRUCK CHARGE bbis, slow ran to SLAM FX **EXTRA FOOTAGE** 3 Umo plug 9x 123 bhis hood-15000sx MILEAGE /S 1090 612 hold MANIFOLD Hest rends 1 @ CHARGE TO: LUJUS Opersting TOTAL 2197 STREET __ _____STATE _____ZIP__ **PLUG & FLOAT EQUIPMENT**



Mark Parkinson, Governor Thomas E. Wright, Chairman Joseph F. Harkins, Commissioner Ward Loyd, Commissioner

December 27, 2010

Tim Hellman Lotus Operating Company, L.L.C. 100 S MAIN STE 420 WICHITA, KS 67202-3737

Re: ACO1 API 15-007-23588-00-00 Wetz B 4 SE/4 Sec.36-34S-12W Barber County, Kansas

Dear Production Department:

We are herewith requesting that the Well Completion Form ACO-1 and attached information for the subject well be held confidential for a period of two years.

Should you have any questions or need additional information regarding subject well, please contact our office.

Respectfully, Tim Hellman